Rapid Reasoning | Answers Year5 | Week 6 | Day 4

m A and B are two six-digit numbers. m Complete these statements with the words
B is 354,763 more than A always, sometimes or never.
J .
B is 638,241.

An octagonis |sometimes | aregular shape.

Calculate the value of A. )
Asquareis | always | aregularshape.

283,478 . o .
An equilateral triangle is never anirregular shape.
1 mark
. Arhombus is never anirregular shape.
m Mara is 9 years old today.

In her lifetime, there have been 2 leap years. 2 marks
How old is Mara in days?
5 3,287 days

2 marks
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Rapid Reasoning | Mark Scheme Year5 | Week 6 | Day 4

Requirement Mark | Additional guidance
Q1 | 283,478 1
Q2 3,287 days 2

Award TWO marks for correct answer.

Award ONE mark for an incorrect answer, but correct
identification in the working of the number of days in
ayear (365) AND in leap year (366).

Q3 | sometimes, always, never, never 2

Award ONE mark for 2 or 3 correct answers and BOTH
marks for all correct answers.
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